11/05/08

Page 5 of 5
Interviewer:
Kenne Likkel

Consultant:
Muriel Fisher

Data from: MacCauley (1964) A grammatical approach to ‘is’ and related problems. Scottish Gaelic Studies.
1. Tha
iad
làidir.


be.pres
3p
strong

"They are strong.”

2. Dh’fhalbh
e.


leave.past
3sm

"He left.”

3. Dh’fhalbh
Iain.


leave.past
John

"John left.”

4. Chunnaic
mi
e.


see.past
1s
3sm

"I saw him."

5. Chunnaic
Iain
an
duine.


see.past
John
the
man

"John saw the man.”

6. Chaidh
i
dhachaidh.


go.past
3sf
home

"She went home.”

7. Chaidh
Anna
dhachaidh.


go.past
Anna
home

"Anna went home.”

8. Thug
thu
dha
e.


give.past
2s
to.1sm
3sm

"You gave it to him.”

9. Thug
Iain
dha
sin.


give.past
John
to.1sm
that

"John gave him that.”

10. Is
làidir
iad.


cop
strong
3p

"They are strong.”

Note: Showing that substituting "is” for "tha” rearranges the other elements in the clause.

11. ‘S
mi
a
dh’fhalbh.


cop
1s
wh-C
leave.past

"It is I who left.”

Note: Showing that 2 has a similar parallel using "is” as 1 has in 10.
Note: Per Muriel, only reason to use cleft construction like this would be to contrast, so needs emphatic (11a).

11a.
‘S
mise
a
dh’fhalbh.


cop
1s.emph
wh-C
leave.past
"It is I who left.”

12. ‘S
mi
a
chunnaic
e.


cop
1s
wh-C
see.past
3sm

"It is I who saw him.”

Note: Showing a similar parallel for 4 as between 2 and 11.
Note: Per Muriel, only reason to use cleft construction like this would be to contrast, so needs emphatic (12a).

12a.
‘S
mise
a
chunnaic
e.


cop
1s.emph
wh-C
see.past
3sm
"It is I who saw him.”

13. ‘S
i
a
chaidh
dhachaidh.


cop
3sf
wh-C
go.past
to.home

"It is she who went home.”

Note: Showing a similar parallel for 6.
Note: Per Muriel, only reason to use cleft construction like this would be to contrast, so needs emphatic (13a).

13a.
‘S
ise
a
chaidh
dhachaidh.


cop
3sf.emph
wh-C
go.past
to.home

"It is she who went home.”

14. ‘S
tu
a
thug
dha
e.


cop
2s
wh-C
give.past
to.1sm
3sm

"It is you who gave it to him.”

Note: Showing a similar parallel for 8.
Note: Muriel does not feel emphatic needs to be added to tu, although it would not be incorrect (14a).

14a.
‘S
tusa
a
thug
dha
e.


cop
2s.emph
wh-C
give.past
to.1sm
3sm

"It is you who gave it to him.”

15. Is
iad
a
tha
làidir.


cop
3p
wh-C
be.pres
strong

"It is they who are strong.”

Note: Showing a third possible construction of the thought expressed in 1 and 10, this time using both "is” and "tha.”
Note: Per Muriel, this construction makes the statement more “meaningful”, “they are indeed strong”.

16. ‘S
e
a
chunnaic
mi.


cop
3sm
wh-C
see.past
1s

"It is he whom I saw.”

Note: Another alternative to 4; unlike 12, which stresses "mi,” this stresses "e.”

Note: Later on it is used as a basic example of the structure P (S/C(P.
Note: Per Muriel, only reason to use cleft construction like this would be to contrast, so needs emphatic.

16a.
Is
esan
a
chunnaic
mi.


cop
3sm.emph
wh-C
see.past
1s

"It is he whom I saw.”

17. ?Is
duine
e.


cop
man
3sm

"He is a man.”

Note: Similar to 10, only here "is” links the pronoun to a noun, not an adjective.

Note: In both cases the predicate follows "is” and the subject follows the predicate.
Note: Muriel did not feel this is a natural way of expressing the thought – it’s old-fashioned. Would use construction below.

17a.
Is
esan
duine.


cop
3sm.emph
man

"He is a man.”

18. ‘S
e
an
duine.


cop
3sm
the
man

"He is the man.”

Note: Unlike 10 and 17, here the subject follows "is” and the predicate is second.

Note: These three help demonstrate that the pronoun in such clauses is always the subject of "is,” regardless of its position relative to the predicate.
Note: This means “It is the man …” e.g. who walked in the room, not the woman, so per Muriel it needs emphatic. See below.

18a.
Is
esan
an
duine.


cop
3sm.emph
the
man

"He is the man.”

19. Thug
mi
dha
e.


give.past
1s
to.3sm
3sm
"I gave it to him.”

Note: Almost identical to 8 but for the subject person.

Note: Here given to contrast to its "is” form, given in 20.
20. *‘S
e
a
thug
mi
dha.


cop
3sm
wh-C
give.past
1s
to.3sm
"It is that which I gave to him.”

Note: Showing the same structure as 16, used for the same reason.
Note: Per Muriel, this is ungrammatical without inclusion of sin “that”. See below.

20a.
‘S
e
sin
a
thug
mi
dha.


cop
3sm
that
wh-C
give.past
1s
to.3sm

"It is that which I gave to him.”

21. ‘S
e
Iain
a
dh’fhalbh.


cop
3sm
John
wh-C
leave.past

"It is John who left.”

Similar to 3, but using the "is” construction.

Note: Also similar to 2 and 11, but 3 and 21 use noun subjects, while 2 and 11 have pronoun subjects.

Note: Among other things, this means that the "is” form begins with "is e,” not simply "is.”
22. ‘S
e
Iain
a
chunnaic
an
duine.


cop
3sm
John
wh-C
see.past
the
man

"It is John who saw the man.”

Note: Used to give an example of a sentence whose structure is very difficult to determine; is "Iain” Complement to "is” while 
23. Is
mise
a
dh’fhalbh.


cop
1s.emp
wh-C
leave.past

"I am who left.”

Note: Showing a possible similarity between such sentences (also see and the following two sentences, 24 and 25.
Note: Per Muriel, this means “It is I who left,” as in 24 below, but it’s more awkward.
24. ‘S
e
mise
a
dh’fhalbh.


cop
3sm
1s.emph
wh-C
leave.past

"It is I who left.”

Note: Drawing a possible parallel between the structure of sentences headed "is” and those headed "is e.”

Note: This sentence is undeniably similar in appearance to 23.
25. ‘S
e
Iain
a
dh’fhalbh.


cop
3sm
John
wh-C
leave.past

"It is John who left.”

Note: Continuing the set of parallels drawn in 23 and 24.
26. ?‘S
ann
a
dh’fhalbh
Iain.


cop
in.3sm
wh-C
leave.past
John

"John left,” with emphasis on the verb.

Note: This sort of thought that might be expressed in English with a sentence like, "Here it is: John left.”

Note: (Contrast 22; also 25, which has the same double-clause structure as 
Note: For Muriel, ‘s ann a + verb is not grammatical.
27. ?‘S
ann
a
tha
iad
làidir.


cop
in.3sm
wh-C
be.pres
3p
strong

"They are strong.”

Note: With emphasis on the verb again.

Note: In English this thought might go something like, "It is true that they are strong,” or "Here it is: they are strong.”

Note: Another example of the structure shown in 26.
Note: For Muriel, ‘s ann a + verb is not grammatical.
28. ?‘S
ann
a
chunnaic
Iain
an
duine.


cop
in.3sm
wh-C
see.past
John
the
man

"John saw the man.”

Note: With emphasis on the verb again, similar in implication to 26 and 27.

Note: Another example of the structure shown in 26.
Note: For Muriel, ‘s ann a + verb is not grammatical.
29. Dh’fhalbh
Iain
anns
a’
mhadainn.


leave.past
John
in
the
morning

"John left in the morning.”

Note: An example of a sentence with an adjunct.
30. ‘S
ann
anns
a’
mhadainn
a
dh’fhalbh
Iain.


cop
in.3sm
in
the
morning
wh-C
leave.past
John

"It is in the morning that John left.”

Note: 29 re-arranged to put focus on the adjunct using the "is ann” construction.

Note: Here "anns a’ mhadainn” seems to act as adjunct to both predicators "is ann” and "a dh’fhalbh.”
31. Anns
a’
mhadainn
dh’fhalbh
Iain.


in
the
morning
leave.past
John

"In the morning, John left.”

Note: Showing that the adjunct in 29 can take various positions relative to the other elements in the sentence.
32. ‘S
ann
dha
a
thug
Iain
sin.


cop
in.3sm
to.3sm
wh-C
give.past
John
that

"It is to him that John gave that.”

Note: Showing 9, re-arranged into the construction "is ann” to put emphasis on the Ca element "dha.”
Note: Muriel would add emphatic to dha. See below.

32a.
‘S
ann
dhàsan
a
thug
Iain
sin.


cop
in.3sm
to.3sm.emph
wh-C
give.past
John
that

"It is to him that John gave that.”

33. ‘S
ann
dhachaidh
a
chaidh
i.


cop
in.3sm
home
wh-C
go.past
3fs

"It is home that she went.”

Note: Showing 6, re-arranged into the construction "is ann” to put emphasis on the Ca element "dhachaidh.”

Note: Compare 32.
34. Chunnaic
Iain
an
duine.


see.past
John
the
man

"John saw the man.”

Note: An example sentence to contrast with two variants of it, in 35 and 36.
35. *‘S
e
a
chunnaic
an
duine
Iain.


cop
3sm
wh-C
see.past
the
man
John

"He who saw the man is John.”

Note: Showing a type of rearrangement where the element in focus is placed at the end of the clause.
Note: For Muriel it is ungrammatical to have focus at end of sentence. Must use construction below.

35a.
‘S
e
Iain
a
chunnaic
an
duine.


cop
3sm
John
wh-C
see.past
the
man

"He who saw the man is John.”

Note: Showing a type of rearrangement where the element in focus is placed at the end of the clause.
Note: For Muriel it is ungrammatical to have focus at end of sentence. Must use construction below.

36. *‘S
e
a
chunnaic
Iain
an
duine.


cop
3sm
wh-C
see.past
John
the
man

"He who John saw is the man.”

Note: Showing another type of rearrangement where the element in focus is placed at the end of the clause.

Note: Compare 35.

Note: The emphasis in these types of rearrangement is contrastive, not selective as in the other types.
Note: For Muriel this construction is as ungrammatical as 35.

37. ?‘S
ann
a
dh’fhalbh
e
an
uair
sin.


cop
in.3sm
wh-C
leave.past
3sm
the
hour
that

"It is that he left then.”

Note: An ambiguous sentence, where the adjunct "an uair sin” may modify "a dh’fhalbh” or "is ann.”

Note: Such ambiguity in the spoken language by stress and tone.
Note: For Muriel, ‘s ann a + verb is not grammatical, although in this instance she felt it was “almost okay” which she thought was due to the phrase an uair sin.
38. ?‘S
ann
a
thug
Iain
sin
dha.


cop
in.3sm
wh-C
give.past
John
that
to.3sm
"There it is: that John gave that to him.”

Note: Another ambiguous sentence, except that in normal speech "dha” would typically be qualified by a post-deictic. 
Note: For Muriel, ‘s ann a + verb is not grammatical, although in this instance she felt it was “almost okay.”
